

# DISTRIBUTOR PRICE LIST

792 Jim Lachey Drive, St. Henry, OH 45883

419.763.1400

dinrailwiringduct.com

## **Great Quality, at the Lowest Possible Price**

Machine-Pro Products is the supplier-of-choice for DIN Rail, wiring duct, accessories, and cutting tools. Built to international standards and easily cross-referenced to existing products, Machine-Pro Products supplies new products, replacements, and compatible products for nearly any project.

Buy with confidence from Machine-Pro Products.

#### PREMIUM WIRING DUCT

#### **High Density/Thin Finger Wiring Duct**

Part N White	umber Gray	Duct Size (Includes duct <b>and</b> cover)	Pieces/ Box	Price/Box 1-9 Boxes	Price/Box 10-15 Boxes	Price/Box 16+ Boxes	Country of Origin	Stock Status
V6K2525W	V6K2525	1" wide v 1 2" high (25v20 mm)	25	\$117.70	\$105.93	¢100.05	Italy	stocked
		1" wide x 1.2" high (25x30 mm)		,		\$100.05	,	
V6K4025W	V6K4025	1" wide x 1.57" high (25x40 mm)	24	\$127.12	\$114.40	\$108.05	Italy	stocked
V6K4040W	V6K4040	1.57" wide x 1.57" high (40x40 mm)	25	\$173.88	\$156.49	\$147.79	Italy	stocked
V6K4060W	V6K4060	2.4" wide x 1.57" high (60x40 mm)	20	\$172.27	\$155.04	\$146.43	Italy	stocked
V6K6025W	V6K6025	1" wide x 2.4" high (25x60 mm)	30	\$208.65	\$187.79	\$177.35	Italy	stocked
V6K6040W	V6K6040	1.6" wide x 2.4" high (40x60 mm)	20	\$172.27	\$155.04	\$146.43	Italy	stocked
V6K6060W	V6K6060	2.4" wide x 2.4" high (60x60 mm)	12	\$120.70	\$108.63	\$102.59	Italy	stocked
V6K8025W	V6K8025	1" wide x 3.1" high (25x80 mm)	10	\$89.88	\$80.89	\$76.40	Italy	stocked
V6K8040W	V6K8040	1.6" wide x 3.1" high (40x80 mm)	10	\$97.91	\$88.11	\$83.22	Italy	stocked
V6K8060W	V6K8060	2.4" wide x 3.1" high (60x80 mm)	10	\$126.80	\$114.12	\$107.78	Italy	stocked
V6K8080W	V6K8080	3.1" wide x 3.1" high (80x80 mm)	6	\$97.91	\$88.11	\$83.22	Italy	stocked
V6K80100W	V6K80100	3.9" wide x 3.1" high (100x80 mm)	6	\$111.07	\$99.96	\$94.41	Italy	stocked
V6K10030W	V6K10030	1.2" wide x 3.9" high (30x100 mm)	24	\$259.37	\$233.43	\$220.46	Italy	stocked
V6K10040W	V6K10040	1.6" wide x 3.9" high (40x100 mm)	20	\$237.54	\$213.79	\$201.91	Italy	stocked
V6K10060W	V6K10060	2.4" wide x 3.9" high (60x100 mm)	8	\$130.97	\$117.87	\$111.32	Italy	stocked
V6K10080W	V6K10080	3.1" wide x 3.9" high (80x100 mm)	8	\$160.50	\$144.45	\$136.43	Italy	stocked
V6K100100W	V6K100100	3.9" wide x 3.9" high (100x100 mm)	6	\$161.46	\$145.32	\$137.24	Italy	stocked



#### **Premium Wiring Duct Accessories**

VTK6	50 Pieces -Variable Length Wire Retainer	50	\$21.89	Italy	stocked
------	--	----	---------	-------	---------

# STANDARD WIRING DUCT

## Standard Density/Wide Finger Wiring Duct

#### Any combination of boxes

Part N		Duct Size (Includes duct <b>and</b> cover)	Price/ Piece	Price/ Box	Box Total	Price/Box 10-15 Boxes	Price/Box 16+ Boxes	Country of Origin	Stock Status
White	Gray								
WD1X1SW	WD1X1SG	1" wide x 1.2" high (25x30 mm)	\$4.40	18	\$79.20	\$71.28	\$67.32	India	stocked
WD1X1.5SW	WD1X1.5SG	1" wide x 1.57" high (25x40 mm)	\$4.95	18	\$89.10	\$80.19	\$75.74	India	stocked
WD1.5X1.5SW	WD1.5X1.5SG	1.57" wide x 1.57" high (40x40 mm)	\$6.50	18	\$117.00	\$105.30	\$99.45	India	stocked
WD2X1.5SW	WD2X1.5SG	2.4" wide x 1.57" high (60x40 mm)	\$8.05	12	\$96.60	\$86.94	\$82.11	India	stocked
WD1X2SW	WD1X2SG	1" wide x 2.4" high (25x60 mm)	\$6.50	18	\$117.00	\$105.30	\$99.45	India	stocked
WD1.5X2SW	WD1.5X2SG	1.6" wide x 2.4" high (40x60 mm)	\$8.05	18	\$144.90	\$130.41	\$123.17	India	stocked
WD2X2SW	WD2X2SG	2.4" wide x 2.4" high (60x60 mm)	\$9.40	12	\$112.80	\$101.52	\$95.88	India	stocked
WD1X3SW	WD1X3SG	1" wide x 3.1" high (25x80 mm)	\$8.40	18	\$151.20	\$136.08	\$128.52	India	stocked
WD1.5X3SW	WD1.5X3SG	1.6" wide x 3.1" high (40x80 mm)	\$9.15	18	\$164.70	\$148.23	\$140.00	India	stocked
WD2X3SW	WD2X3SG	2.4" wide x 3.1" high (60x80 mm)	\$11.85	12	\$142.20	\$127.98	\$120.87	India	stocked
WD3X3SW	WD3X3SG	3.1" wide x 3.1" high (80x80 mm)	\$15.25	12	\$183.00	\$164.70	\$155.55	India	stocked
WD4X3SW	WD4X3SG	3.9" wide x 3.1" high (100x80 mm)	\$17.30	8	\$138.40	\$124.56	\$117.64	India	stocked
WD1X4SW	WD1X4SG	1" wide x 3.9" high (25x100 mm)	\$10.10	18	\$181.80	\$163.62	\$154.53	India	stocked
WD1.5X4SW	WD1.5X4SG	1.6" wide x 3.9" high (40x100 mm)	\$11.10	12	\$133.20	\$119.88	\$113.22	India	stocked
WD2X4SW	WD2X4SG	2.4" wide x 3.9" high (60x100 mm)	\$15.30	8	\$122.40	\$110.16	\$104.04	India	stocked
WD3X4SW	WD3X4SG	3.1" wide x 3.9" high (80x100 mm)	\$18.75	8	\$150.00	\$135.00	\$127.50	India	stocked
WD4X4SW	WD4X4SG	3.9" wide x 3.9" high (100x100 mm)	\$25.15	8	\$201.20	\$181.08	\$171.02	India	stocked
WD6X4SW	WD6X4SG	5.9" wide x 3.9" high (150x100 mm)	\$26.95	4	\$107.80	\$97.02	\$91.63	India	stocked

# **High Density/Thin Finger Wiring Duct**

#### Any combination of boxes

	lumber	Duct Size	Price/ Piece	Price/ Box	Box Total	Price/Box 10-15 Boxes	Price/Box 16+ Boxes	Country of	Stock Status
White	Gray	(Includes duct <b>and</b> cover)	Fiece	BUX	IUlai	10-15 Boxes	10+ Boxes	Origin	
HD1X1SW	HD1X1SG	1" wide x 1.2" high (25x30 mm)	\$4.40	18	\$79.20	\$71.28	\$67.32	India	stocked
HD1X1.5SW	HD1X1.5SG	1" wide x 1.57" high (25x40 mm)	\$4.95	18	\$89.10	\$80.19	\$75.74	India	stocked
HD1.5X1.5SW	HD1.5X1.5SG	1.57" wide x 1.57" high (40x40 mm)	\$6.50	18	\$117.00	\$105.30	\$99.45	India	stocked
HD2X1.5SW	HD2X1.5SG	2.4" wide x 1.57" high (60x40 mm)	\$8.05	12	\$96.60	\$86.94	\$82.11	India	stocked
HD1X2SW	HD1X2SG	1" wide x 2.4" high (25x60 mm)	\$6.50	18	\$117.00	\$105.30	\$99.45	India	stocked
HD1.5X2SW	HD1.5X2SG	1.6" wide x 2.4" high (40x60 mm)	\$8.05	18	\$144.90	\$130.41	\$123.17	India	stocked
HD2X2SW	HD2X2SG	2.4" wide x 2.4" high (60x60 mm)	\$9.40	12	\$112.80	\$101.52	\$95.88	India	stocked
HD1X3SW	HD1X3SG	1" wide x 3.1" high (25x80 mm)	\$8.40	18	\$151.20	\$136.08	\$128.52	India	stocked
HD1.5X3SW	HD1.5X3SG	1.6" wide x 3.1" high (40x80 mm)	\$9.15	18	\$164.70	\$148.23	\$140.00	India	stocked
HD2X3SW	HD2X3SG	2.4" wide x 3.1" high (60x80 mm)	\$11.85	12	\$142.20	\$127.98	\$120.87	India	stocked
HD3X3SW	HD3X3SG	3.1" wide x 3.1" high (80x80 mm)	\$15.25	12	\$183.00	\$164.70	\$155.55	India	stocked
HD4X3SW	HD4X3SG	3.9" wide x 3.1" high (100x80 mm)	\$17.30	8	\$138.40	\$124.56	\$117.64	India	stocked
HD1X4SW	HD1X4SG	1" wide x 3.9" high (25x100 mm)	\$10.10	18	\$181.80	\$163.62	\$154.53	India	stocked
HD1.5X4SW	HD1.5X4SG	1.6" wide x 3.9" high (40x100 mm)	\$11.10	12	\$133.20	\$119.88	\$113.22	India	stocked
HD2X4SW	HD2X4SG	2.4" wide x 3.9" high (60x100 mm)	\$15.30	8	\$122.40	\$110.16	\$104.04	India	stocked
HD3X4SW	HD3X4SG	3.1" wide x 3.9" high (80x100 mm)	\$18.75	8	\$150.00	\$135.00	\$127.50	India	stocked
HD4X4SW	HD4X4SG	3.9" wide x 3.9" high (100x100 mm)	\$25.15	8	\$201.20	\$181.08	\$171.02	India	stocked
HD6X4SW	HD6X4SG	5.9" wide x 3.9" high (150x100 mm)	\$26.95	4	\$107.80	\$97.02	\$91.63	India	stocked

## **Wiring Duct Accessories**

Part Number	Item	Each	Pieces/Pack	Total	Country of Origin	Stock Status
BFL1	Fixing Lug	\$0.29	50	\$14.50	India	stocked
BCT1	Cable Tie Attachment	\$0.29	50	\$14.50	India	stocked
BWR11	Wire Retainer, thin finger 40mm width	\$0.28	50	\$14.00	India	stocked
BWR12	Wire Retainer, thin finger 60mm width	\$0.33	50	\$16.50	India	stocked
BWR13	Wire Retainer, thin finger 80mm width	\$0.36	50	\$18.00	India	stocked
BWR14	Wire Retainer, thin finger 100mm width	\$0.39	50	\$19.50	India	stocked
BWR21	Wire Retainer, standard finger 40mm width	\$0.28	50	\$14.00	India	stocked
BWR22	Wire Retainer, standard finger 60mm width	\$0.33	50	\$16.50	India	stocked
BWR23	Wire Retainer, standard finger 80mm width	\$0.36	50	\$18.00	India	stocked
BWR24	Wire Retainer, standard finger 100mm width	\$0.39	50	\$19.50	India	stocked
BNP1	Name Plate for thin finger	\$0.62	50	\$31.00	India	stocked
BNP2	Name Plate for standard finger	\$0.62	50	\$31.00	India	stocked
BMC1	Mounting Clip 1	\$0.38	50	\$19.00	India	stocked
BMC2	Mounting Clip 2	\$0.39	50	\$19.50	India	stocked

# **DIN RAIL**

### **Steel DIN Rail**

Part Number	Item	Price/ Meter	Price/ Piece	Peices/ Box	Box Total	15+ Boxes - any combination	Skid = 54 boxes of same item	Country of Origin	Stock Status
DR3575ST-1	35mm x 7.5mm x 1 meter slotted steel DIN rail	\$1.75	\$1.75	20	\$35.00	\$31.50	\$29.75	India	stocked
DR3575ST-2	35mm x 7.5mm x 2 meter slotted steel DIN rail	\$1.70	\$3.40	20	\$68.00	\$61.20	\$57.80	India	stocked
DKN3575ST-2	35mm x 7.5mm x 2 meter slotted steel DIN rail - 5.2 x 25 mm slots	\$1.70	\$3.40	20	\$68.00	\$61.20	\$57.80	India	stocked
DR3575AL-1	35mm x 7.5mm x 1 meter slotted aluminum DIN rail	\$3.60	\$3.60	14	\$50.40	\$45.36	\$42.84	India	stocked
DR3575AL-2	35mm x 7.5mm x 2 meter slotted aluminum DIN rail	\$3.55	\$7.10	14	\$99.40	\$89.46	\$84.49	India	stocked
DRHRAL-1	35mm x 7.5mm x 1 meter High Rise slotted aluminum DIN rail	\$9.25	\$9.25	10	\$92.50	\$83.25	\$78.63	India	stocked
DR3575-1	35mm x 7.5mm x 1 meter unslotted steel DIN rail	\$1.75	\$1.75	20	\$35.00	\$31.50	\$29.75	India	stocked
DR3575-2	35mm x 7.5mm x 2 meter unslotted steel DIN rail	\$1.70	\$3.40	20	\$68.00	\$61.20	\$57.80	India	stocked
DR3515ST-1	35mm x 15mm x 1 meter slotted steel DIN rail	\$3.00	\$3.00	10	\$30.00	\$27.00	\$25.50	India	stocked
DR3515ST-2	35mm x 15mm x 2 meter slotted steel DIN rail	\$2.95	\$5.90	10	\$59.00	\$53.10	\$50.15	India	stocked
DR3515-1	35mm x 15mm x 1 meter unslotted steel DIN rail	\$3.00	\$3.00	10	\$30.00	\$27.00	\$25.50	India	stocked
DR3515-2	35mm x 15mm x 2 meter unslotted steel DIN rail	\$2.95	\$5.90	10	\$59.00	\$53.10	\$50.15	India	stocked
DR155ST-1	15mm x 5mm x 1 meter slotted steel DIN rail	\$1.45	\$1.45	20	\$29.00	\$26.10	\$24.65	India	stocked
DR155ST-2	15mm x 5mm x 2 meter slotted steel DIN rail	\$1.40	\$2.80	20	\$56.00	\$50.40	\$47.60	India	stocked

#### **DIN Rail Accessories**

Part Number	Item	Each	Pieces/Pack	Total	50+ packs any combination	Country of Origin	Stock Status
DRSO-1	1 inch angled DIN rail standoff mounting bracket	\$0.75	20	\$15.00	\$13.50	India	stocked
DRSO-2	2 inch angled DIN rail standoff mounting bracket	\$0.80	20	\$16.00	\$14.40	India	stocked
DRSO-3	3 inch angled DIN rail standoff mounting bracket	\$0.85	20	\$17.00	\$15.30	India	stocked
DRSO-190	1 inch straight DIN rail standoff mounting bracket	\$0.75	20	\$15.00	\$13.50	India	stocked
DRSO-290	2 inch straight DIN rail standoff mounting bracket	\$0.80	20	\$16.00	\$14.40	India	stocked
DRSO-390	3 inch straight DIN rail standoff mounting bracket	\$0.85	20	\$17.00	\$15.30	India	stocked



# **CUTTING TOOLS**

## **Grounding Bar**

Part Number	Item	Price Each	15-19	20+	Country of Origin	Stock Status
GB-174-4	Pre-cut copper ground bar with screws inserted - 4 in long	\$7.99	\$7.19	\$6.79	India	stocked
GB-174-6	Pre-cut copper ground bar with screws inserted - 6 in long	\$12.99	\$11.69	\$11.04	India	stocked
GB-174-8	Pre-cut copper ground bar with screws inserted - 8 in long	\$15.99	\$14.39	\$13.59	India	stocked
GB-174-12	Pre-cut copper ground bar with screws inserted - 12 in long	\$23.99	\$21.59	\$20.39	India	stocked
GB-174	69 inch (5' 9") copper ground bar with screws inserted	\$89.99	\$80.99	\$76.49	India	stocked

# **Multi-Position Assembly Tables**

Part Number	Item	Price Each	Country of Origin	Stock Status
031003.US or .BL	AMTE-300 Multi-angle panel assembly table w/electric tilt	\$2,749.99		
031005.US or .BL	AMTE-500 Multi-angle panel assembly table w/powered tilt & height adjustment	\$5,099.99		
031003-001	Side Table Extensions for Multi-Angle Tilting Control Panel Mounting & Assembly Table	\$389.99		
031003-001SP	Special Table Extensions for Multi-Angle Tilting Control Panel Mounting & Assembly Table to fit 78" high x 72" wide	\$199.99		
031003-003	Set of (2) Quick Release Clamping Unit (2 sets required per table)	\$159.99	United States of America	
031003-007	Panel Stop for supporting control cabinets	\$227.99		
031003-008	Power Strip	\$79.99	Including	
031003-009	Roller Conveyor for rolling panels off of the table into the cabinet.  Works best with AMTE-500 model with height adjustment.	\$679.99	assembly pieces originating from China, Area of	Stock to 3-4 weeks
031003-010	Set of (2) Standard Caster Wheels (2 sets required per table)	\$239.99	Taiwan, Germany, and Italy.	
031003-011	Control Cabinet Suspension Set	\$159.99	and italy.	
031003-012	Battery Charger	\$159.99		
031003-013	Tool Holder - Small for holding assembly tools	\$119.99		
031003-014	Tool Holder - Large for holding assembly tools	\$149.99		
031003-015	Guide for Wire	\$89.99		
031003-016	Wire Roll Support	\$109.99		
031003-025	Set of (2) Locking Caster Wheels - (2 sets required per table)	\$274.99		

419.763.1400



### **Cutting Tools**

Part Number	Item	Price Each	Country of Origin	Stock Status
DRC-DUO	Dual Profile DIN Rail Cutter w/Guide and Length Stop	\$749.99	Germany	stocked
DRC-MLT	Multi-Profile DIN Rail Cutter w/Guide and Length Stop	\$1,089.99	Germany	stocked
DRC-MLT-USA	Multi-Profile DIN Rail Cutter w/Guide and Length Stop	\$1,429.99	Germany	stocked
WDC-BNCH	Premium Bench Top Wiring Duct Cutter w/Length Stop	\$1,069.99	Germany	stocked
VTC-125B	Standard Bench Top Wiring Duct Cutter w/Length Stop	\$849.99	Italy	stocked
KTC120	Portable Bench Top Wiring Duct Cutter	\$479.99	Italy	stocked
WDC-HHLB	Long Blade Hand Held Wiring Duct Cutter	\$154.99	Japan	stocked

#### **MBS-Pro TCT Hole Saws**

Part Number	Item	Price Each	Country of Origin	Stock Status
761019	3/4 (0.75) Inch Carbide Hole Saw	\$49.59	Germany	
761023	7/8 (0.875) Inch Carbide Hole Saw	\$52.53	Germany	
761026	1 (1.0) Inch Carbide Hole Saw	\$54.89	Germany	
761029	1-1/8 (1.125) Inch Carbide Hole Saw	\$56.62	Germany	3-4 weeks out of Germany or
761032	1-1/4 (1.25) Inch Carbide Hole Saw	\$66.79	Germany	
761035	1-3/8 (1.375) Inch Carbide Hole Saw	\$71.14	Germany	less
761039	1-1/2 (1.5) Inch Carbide Hole Saw	\$72.19	Germany	
761059	2 (2.0) Inch Carbide Hole Saw	\$106.77	Germany	
761062	2-7/16 (2.4375) Inch Carbide Hole Saw	\$134.38	Germany	



# Thank You for Your Business!